
Hosam Elmetaher 

m 
By placing small GPS devices on animals, researchers can determine the exact 
migratory and territorial behaviours of ........ species. 

(A) much 
(B) many 
(C) a 
(D) an 

Your answer: ................ . 

Answer is on the next page. 
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TOEFL® ITP Test: Listening, Grammar & Reading 

m 
By placing small GPS devices on animals, researchers can determine the exact 
migratory and territorial behaviours of ........ species. 

(A) much 
(B) many 
(C) a 
(D) an 

i14Wt@ B. many 

Gratntnar point: 
"Species" is a plural countable noun, and therefore, the best answer is B: Many. 

KeY vocabularY: 
Migratory (adjective): Moving from one place to another. 
Territorial (adjective): The way animals mark and protect their space. 
Species (noun-plural): A group of animals or plants with similar DNA. 

QEFL®Tip: 
"Many, much, and a lot" are commonly used in TOEFL® to mislead the test taker. 
Whenever, you see them, be sure that they have been used correctly. 

English Tip: 
Use many with countable nouns (students, desks, .... ) 
Use much with uncountable nouns (money, bread, water ... ) 
Use a lot, a lot of, lots of with both countable and uncountable nouns. 

un English: 
Q: What did the traffic light say to the car? 
A: Don't look, I'm changing. 
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Hosam Elmetaher 

Q4 Practice. 

-Social science has .......... branches, each of which is considered a "social science". 
(A) much 
(B) many 
(C) both 
(D) a 

-I didn't get ........ sleep that night. 
(A) much 
(B) many 
(C) both 
(D) a 

-I went shopping and spent ........ money. 
(A) many 
(B) few 
(C) a lot of 
(D) a 

-There is ........ concern about drug addiction in the US. 
(A) much 
(B) many 
(C) the 
(D) an 

Answer is on the next page. 
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Q4 Practice: Answer 

-Social science has .......... branches, each of which is considered a "social science". 
(A) much 
(B) many 
(C) both 
(D) a 

-I didn't get ........ sleep that night. 
(A) much 
(B) many 
(C) both 
(D) a 

-I went shopping and spent ........ money. 
(A) many 
(B) few 
(C) a lot of 
(D) a 

-There is ........ concern about drug addiction in the US. 
(A) much 
(B) many 
(C) the 
(D) an 
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m 
The publication of The Man from Snowy River and five other ballads in 1890 
......... Banjo Patterson one of Australia's most famous writers. 

(A) make 
(B) made 
(C) do 
(D) did 

Your answer: ................ . 

Answer is on the next page. 
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TOEFL® ITP Test: Listening, Grammar & Reading 

m 
The publication of The Man from Snowy River and five other ballads in 1890 
......... Banjo Patterson one of Australia's most famous writers. 

(A) make 
(B) made 
(C) do 
(D) did 

eiiitit1f:M B. made 

Grammar point: 
Made is the past tense of "make." In the previous question, the author indicates that 
publishing some really successful ballads promoted "Banjo Patterson" to fame as a 
famous Australian writer. 

KeY vocabularY: 
Publication (noun-singular): A book, journal, magazine, newspaper etc., that has 
been printed and made available to the public. 
Ballads (noun-plural): A kind of poem or song that tells a story 

OEfL®Tip: 
The difference between make and do is sometimes confusing in the TOEFL® ITP 
test because their meaning is quite similar. Whenever you see them in a TOEFL® 
question, think carefully about the meaning of the sentence. In other words, is the 
subject of the sentence trying to create (make) something, or complete (do) 
something. 

English Tip: 
Make- past tense (made)--> to create something--> Ex: I made a cake. 
Do - past tense (did) --> to complete something --> Ex: I did my homework. 

un English: 
Q: What music are balloons scared of? 
A: Pop music 
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Hosam Elmetaher 

Q5 Practice. 

-The privilege to establish these four faculties was usually part of all medieval 
charters for universities, but not every university could ....... so in practice. 

(A) do 
(B) make 
(C) did 
(D) made 

-Sociolinguistics often ....... use of traditional quantitative analysis and statistics in 
investigating the frequency of features. 

(A) does 
(B) makes 
(C) made 
(D) did 

-This was actually the first design I ....... for the collection. 
(A) make 
(B) made 
(C) do 
(D) did 

-The 30 movies you won't believe ........ win Oscars. 
(A) didn't 
(B) made 
(C) it 
(D) make 

Answer is on the next page. 
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Q5 Practice: Answer 

-The privilege to establish these four faculties was usually part of all medieval 
charters for universities, but not every university could ....... so in practice. 

(A) do 
(B) make 
(C) did 
(D) made 

-Sociolinguistics often ....... use of traditional quantitative analysis and statistics in 
investigating the frequency of features. 

(A) does 
(B) makes 
(C) made 
(D) did 

-This was actually the first design I ....... for the collection. 
(A) make 
(B) made 
(C) do 
(D) did 

-The 30 movies you won't believe ........ win Oscars. 
(A) didn't 
(B) made 
(C) it 
(D) make 
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m 
Hybrid Electric Vehicle (HEV) technology will play a central role in .......... future 
automotive designs. 

(A) guiding 
(B) guide 
(C) to guide 
(D) guide the 

Your answer: ................ . 

Answer is on the next page. 
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TOEFL® ITP Test: Listening, Grammar & Reading 

m 
Hybrid Electric Vehicle (HEV) technology will play a central role in .......... future 
automotive designs. 

(A) guiding 
(B) guide 
(C) to guide 
(D) guide the 

tiiitWMJ A. guiding 

Gratntnar point: 
The sentence already has the verb "will play" and therefore needs an adjective to describe 
the noun "future." Therefore, the only possible answer is "guiding" as it is the only 
adjective in the four possible answers. 

KeY vocabularY: 
Hybrid (adjective): A blend or mix of two similar things 
Vehicle (noun-singular): A large car, van, truck, or bus to carry people or goods 
Automotive (adjective): Linked to cars and vehicles 

OEfL®Tip: 
Verb + ing = adjective --> Ex: I like the shining stars. 
Verb to be (am- is- are- was- were)+ verb+ ing =verb -->Ex: The stars are shining. 

English Tip: 
Be sure you understand the difference between a noun, pronoun, verb, adjective, and 
adverb: 
Noun: Name of something, such as John, Brazil, School, Tiger, Love, .. . 
Pronoun: Words that can replace a noun, such as he, she, it, they, we, .. . 
Verb: The action of the sentence, such as play, eat, think ..... 
Adjective: Describes the noun or the pronoun of the sentence, such as tall, expensive, ... 
Adverb: Describes the verb of the sentence and usually ends with "ly", such as slowly, 
beautifully, ... 

un English: 
Teacher: 'Craig, you know you can't sleep in my class.' 
Craig: 'I know. But maybe if you were just a little quieter, I could.' 
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Hosam Elmetaher 

Q6 Practice. 

-............ .is to engage in activity for enjoyment and recreation rather than a serious 
or practical purpose. 

(A) Play 
(B) Plays 
(C) Played 
(D) Playing 

-These are very ......... books. 
(A) satisfying 
(B) satisfy 
(C) satisfies 
(D) satisfied 

-Theresa Philips ......... the longest honeymoon period since the 1950s. 
(A) is 
(B) is enjoying 
(C) enjoying 
(D) enjoy 

-Government said that the legislators ........ at Victoria Hotel. 
(A) stays 
(B) staying 
(C) are staying 
(D) is staying 

Answer is on the next page. 
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Q6 Practice: Answer 

-............ .is to engage in activity for enjoyment and recreation rather than a serious 
or practical purpose. 

(A) Play 
(B) Plays 
(C) Played 
(D) Playing 

-These are very ......... books. 
(A) satisfying 
(B) satisfy 
(C) satisfies 
(D) satisfied 

-Theresa Philips ......... the longest honeymoon period since the 1950s. 
(A) is 
(B) is enjoying 
(C) enjoying 
(D) enjoy 

-Government said that the legislators ........ at Victoria Hotel. 
(A) stays 
(B) staying 
(C) are staying 
(D) is staying 
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